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There are 10 problems on 6 pages. Each problem is worth 10 points. In problem 3
you MUST use the definition of the derivative. In the other problems you may use

any legitimate derivative rule. SHOW your work. | CIRCLE | your answer. NO
CALCULATORS!

2. Let y = sin (23 cos?(2z) + 192%) . Find .
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3. Use the DE]FINITION of the DERIVAT

IVE to find the derivative of
f(z) = ry——

-4
2
e L M b5 e €T g dered-a (o)
- 5 4 5 §(3x¢] (351354
= L /6/{7{._“%(_6@% = g =64
o \
> A(m\csxﬂfﬂ G20 & (3a-1)(3x RS- 1)
" =b

A

EX3ry) T =

Q{i (at)( 35438 ¢ ) (T2

4. Graph y = 2cos3z. Mark a few points on each axis.
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5. (The penalty for each mistake is five points.) Let

4-z if2<g,
flz) =< = if 1 <z<2 and
4-22 ifz<i,

(a) Graph y= f(z).

(b) Fill in the blanks:

[O=2 Jim @)= 4 lim f@)=% 1 f(o) = &
=3 lmie)=1  m fe)=3 lim f(z) = DMR
fA=2  lim fz)= 2 Jm f@) =2 lm @)= 2

(¢c) Where is f(z) continuous?

#bﬁS ca s é@-a%ﬂ7k Chegr X=1.

(d) Where is f(z) differentiable?
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has length 10 inches.
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7. (The penalty for each mistake is five points.
graph of y = f(z),

) The picture represents the
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8. Let 42%y® = sin(3z%y®). Find =,

445 d 36
4X53‘3&j»f‘+;oxi‘;r3 = cx(3x1Y¢) Esx J o—;{ K] ]

L4
2 [1) X5 9% — 19455 cus (n‘*?ﬂz +hx3gk os(2xtg | -20x%

129 cos(3xFg¢) —20 X793
|2 %S9 —1g x*gS 68 (3x¥ 7€)

9. Find the equation of the line tangent to f(z) =cos?z at  — 3
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10. The height of an object above the ground at time ¢ is s(t)

where s is measured in feet and ¢ is measured in seconds. W
of the object when it strikes the ground?

The pbjoct Steites e Fiowd whe, w€|=0
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L4 1=3

= —16t% + 32t + 48,
hat is the velocity

e l=2"0¢ V= ~31£ 432
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\V(3) = -33(3) 132 = =32(3-1) = -3¢



